2015 & £ 4 KB £ G4 B % B
Bralinel ik '

<EiTE %4B>
~~Vanille Lazy~~

BEE § %
<E ik A4E>:Vanille Lazy
<Blpkm B>: L MBAk - BIREA
<tE 4 P> L R R £ EF






€ R

\;\\L \ Y | 7 \% e - : E
= \\»»_:‘: . - ‘ ’ ] ] / v/ / E

KRR E R
F7 ’ (X T
g o A R RS



~~Van1 1le Lazy~~

TR
Iad A R Aty B B

AKBERKEH - (&)




-

o n #. - y.’ §
- .,«.'.l'&v.-.i \Q -
o e > V% A .
{ , oy -

,,h&n‘\!\h i 9 ,

3

. “. RS > 8L T
’ {4

-










] I
Y opsigarn TR

AT I RETT
Y %4 471



AP o g

® LPAFERE|HRL » AFFRASH TR ES R AL UREES BN
vt E G BRI EY o BRERZ BB RY T -

1. ﬁ,l;%;,:,\: X é;.ﬁ'j;#éz‘ﬂﬁpﬁgﬂiiﬂiﬂzi% e misw Y F!'J’ﬁ ’?..?Z
2AF AL D RS Rl R

2. emrALIEHPE P BRee iAo FEE1205 0 FELOAE LR
A EBR8A 0 B - BV IE T B5L AR FH 0 Fo~L o B Tio-
FL0EA 57 2 H Yo

3. WREGFHET T MARELFEITFIH T L5100~ - g10LF 4 =
Ai4A > FMBRAEHKSATHLION o - B I TH- 2104 5K
B Fo~toBIT5-REAXFFH IR HES T



(- =) $25000/ = 50000 ~

B (E- =) $18000/ ¢ 18000~

k(- X)) $10000/ * 10000 ~

Hv BE(¥- =) $5000/ * 5000 =~

Tk¥ $3000/ » 3000 ~

AFERA $22000/ * 44000 ~
s 130000 = //

QT/ 10



weetJE IR HP # T

R E T
FHRL(F-BY)
$80/ £ 204 /7 1600 =~
FHRA(F=o~L=-BY)
$80/ £ T 3404 /" 35200 =~
& ¥ ) 3t 36800 ~

11



WL E Y

T E
TP A(F-B1Y)
$60/ & 40£ /" 2400~
FHRA(F-~L-BY)
$60/ £ T33]20£ /" 79200 ~
& ¥ ol 81600~

12



PEP S E F1

PAFEHRGI P LR TLFRE 2 ERS P8
L kB ’A.EE%’PFC#' ;k?»—"ﬁ tpens £ » PEA: Ffs B4
e S - 3 B A B LI

5= &
FE 118400 ~ 729600~ 2208000 ~
FERD 622000~ 564000~ 564000~
$EJE 647000~ 165600~ 1644000~
= ERRY A 1172600 ~

O\, 13



14



